
*P76924A02224*

D
O

 N
O

T W
RITE IN

 TH
IS A

REA
 		

D
O

 N
O

T W
RITE IN

 TH
IS A

REA
						





D

O
 N

O
T W

RITE IN
 TH

IS A
REA D

O
 N

O
T 

W
RI

TE
 IN

 T
H

IS
 A

RE
A

 		
D

O
 N

O
T 

W
RI

TE
 IN

 T
H

IS
 A

RE
A

						





D
O

 N
O

T 
W

RI
TE

 IN
 T

H
IS

 A
RE

A

22

  

28	 The table shows information about the weights of 120 oranges.

Weight (w grams) Frequency

  50 < w  100 34

100 < w  150 29

150 < w  200 27

200 < w  250 19

250 < w  300 11

	 (a)	 Find the class interval that contains the median.
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(1)

	 (b)	 Calculate an estimate for the mean weight of the 120 oranges. 
Give your answer correct to 3 significant figures.
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(Total for Question 28 is 4 marks)

TOTAL FOR PAPER IS 80 MARKS




